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private double maxSpeed;

public Vehicle (double maxSpeed) {
this.maxSpeed = maxSpeed;

}
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public double getMaxSpeed() { Lu‘t C ,0SS 0( },.)‘UJ‘Z(G{ a{d&
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public abstract boolean endTrip(Terrain t);
public abstract boolean move (Terrain t);
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public abstract boolean startTrip(Terrain t)f}oam CIO‘SS @/zﬂ"&’(
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public class Car extends Vehicle { C
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private double turboBoost; & §/LC /01_(5’ 506
public Car (double maxSpeed, double turboBoost) { (}/chﬁx5§
// call superclass (Vehicle) constructor
super (maxSpeed) ; 4.,/[4[// b«»ic ((0‘53 [0S *‘U"L‘*f Con§ /\Nﬁ/z""
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} this.turboBoost = turboBoost g[(/ Id

public boolean endTrip (Terrain t) {

if ( t == Terrain.AIRPORT || t == Terrain.MARINA ) {
return true;
} else {

return false;

}
}

public boolean move (Terrain t) {
if ( t == Terrain.AIRPORT || t == Terrain.MARINA :,.
|| t == Terrain.ROAD ) { {4,«:1(
return true; my .
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public boolean startTrip(Terrain t) {
if ( t == Terrain.AIRPORT || t == Terrain.MARINA ) {

return true;

}

} else { <
return false; ecf‘“
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public double getTurboSpeed() { ~

return getMaxSpeed () *turboBoost;

}



public class Trip {
private Terrain[] hops;

public Trip(int numHops) {
if (numHops < 2) {
throw new IllegalArgumentException ("Trips must have at least a
start and finish");

}

this.hops = new Terrain[numHops];
}
public void setHop(int hop, Terrain t) { ) Md/pln "SM/
hops[hop] = t; ?j
}
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public boolean isTripPossible (Vehicle v) { Cﬁ
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// Check the first hop QJLOU‘QS Jd
if (!v.startTrip (hops[0])) { ’CCL
return false; V&(I\”

}

// Check all hops between the first and last
for (int 1 = 1; 1 < hops.length - 1; i++) {
if (!v.move (hops[i])) {
return false;
}
}

// Check the last hop
if (!v.endTrip (hopsl[hops.length - 1]1)) {
return false;

}

// success!
return true;



